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QUESTION 1

One reason to add an index is to: 

A. Decrease storage space. 

B. Increase database security. 

C. Improve performance of select statements. 

D. Improve performance of insert statements. 

Correct Answer: C 

 

QUESTION 2

You have two tables. Each table has three rows. 

How many rows will be included in the Cartesian product of these two tables? 

A. 0 

B. 3 

C. 6 

D. 9 

Correct Answer: D 

 

QUESTION 3

You have a table named Student that contains 100 rows. Some of the rows have a NULL value in the FirstName
column. You execute the following statement: 

DELETE FROM Student 

What is the result? 

A. All rows in the table will be deleted. 

B. All rows containing a NULL value in the FirstName column will be deleted. 

C. You will receive an error message. 

D. All rows and the table definition will be deleted. 

Correct Answer: A 
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QUESTION 4

The component that holds information for a single entry in a table is called a: 

A. Data type 

B. Row 

C. Column D. View 

Correct Answer: B 

 

QUESTION 5

You have a database table that contains the following columns: 

You must insert the following record into the table: 

Which two Structured Query Language (SQL) statements can you use? (Choose two.) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: BC 
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